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At the 3GPP T2 SWG3 MMS ad-hoc meeting in Düsseldorf in January 2001 document T2010008 on error handling for MM retrieval was discussed.  The document proposes two ways (case A and B) to handle error situations in the retrieval case.  During discussions it became clear that neither of the two proposals in T2010008 is optimum and delegates needed more time to evaluate the impact on backwards compatibility.

Document T2010008 states:

   "Backward compatibility considerations:

    In terms of backwards compatibility several possible relations

    have to be regarded but in this particular case the relevant

    scenario consists of a MMS Relay having implemented a more recent

    version than a MMS User Agent which tries to retrieve a MM."

Is the following understanding of the above statement correct?

For example for the case A approach, the concern is that the MMS UA may have implemented receipt of the MM1_retrieve.RES according to the latest draft version of the MMS specification, 23.140 v4.1.0?

If this understanding is correct then that raises some concerns, based on these facts:

1. The information elements of the MM1_retrieve.RES abstract message were not defined until about 6 months ago and this definition has not appeared in any released version of 23.140.

2. The implementation of e.g. MM1_retrieve.RES has not yet been standardized.  The IP implementation of MMS is listed as "future" and the WAP implementation of MMS has not yet been released by the WAP Forum.

Based on the above, how can anyone claim to have developed a conformant and interoperable implementation of MMS - such a thing can per definition not exist yet.

It is commonplace for standards organizations to accommodate pre-existing solutions when developing standards.  However, it seems that the situation is quite different here, as the solution we are asked to accommodate was not pre-existing.  How can the 3GPP T2 perform its duties in any reasonable way, if we set the precedence that anyone can implement a draft version of the spec and then ask us to not change that draft?

